<name>
Class: Honors Geometry
Date: <date>

Topic: Lesson 8-3 (Proving Triangles Similar)

Postulate 8-1 AA~

Theorem 8-1 SAS~

Theorem 8-2 SSS~

Triangle Similarity
Examples

Angle-Angle Similarity (AA~)

If 22'sof Aare=to 2 £'s of anotherA,

then the A'sare ~. ﬁ
If£T=/P& /R = /L then
ATRS ~ APLM

Side-Angle-Side Similarity (SAS~)

If an Zof 1 Ais=to an Z of anotherA, and Q the
sides incl the= £'s are proportional,

then the A'sare ~.

If2A = 4Q&é§=§9m¢1mmc AQRS
OR 0S

Side-Side-Side Similarity (SSS~) A Q
If the corr sides of 2A'sare proportional,

then the A'sare ~.
B C

R
122 ~ A€ _5C then aaBC ~ AQRS

OR 0OS RS

1. MX LAB. Explain whyA'sare ~. Write a similarity stmt.
Have Zinfo & no length info so look at AA~ & SAS~.
ZAXM & ZBXK are right £'s and therefore are = .
mZA=mZB =58,s0 /A= /B
We have two = £'sso we’re done.

Therefore AAXM ~ ABXK by AA~ Postulate.

2. Explain why A'sare ~. Write a similarity stmt.
Look for either AA~, SAS~ or SSS~.

z
LZVY = ZWVX (vertZ's)

Hmm, only £ set we have= ...
vy _12_1,.vz _18_1

VW 24 2 VX 36 2
vz
VW VX
So AZVY ~ AXVW by SAS~ Theorem
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Indirect
Measurement

Example

3. ABCD is a parallelogram. Find WY.

Have lots of side len info so let’s look for SAS~ or SSS~.
Don’t have the lens of all 3 sides so work on SAS~.

We first need to determine corresponding sides.

It’s a parallelogram, so AB|| DC withAY & XZ transv.

ZAXW = LYZW & /WAX = ZWYZ (alt. int. Zs ).

S0AAXW ~ AYZW by AA~ Postulate. A X B
Thus, XW corr w/ZW & AW W/ YW . S\/4
w
We then have AW _XW and 20
wy ZW
AW _ 5 XW_4 1Py Yy ¢

WY WY ZW 20 5

Soi:l; WY =5¢5=25
WY 5

Using ~ A's to find measurements difficult to obtain directly.
Light reflects off surf at same ~ it hits the surf

4. Joan places a mirror 24 ft fm the base of a
tree. When she stands 3 ff fm the mirror,
she can see the top of the tree
reflected in it. If hereyes (
are 5 ft above the ground,
how tall is the tree?

3 24 ft

1st look for AA~, SAS~ or SSS~. Have 2 rtA's. Also
the £s formed at the mirror are= (light reflection). Thus
we have 2= /'sso the 2A'sare ~ by the AA~ Postulate.
The distance to the mirror legs correspond; the height legs
correspond. Thus we have the following proportional

statement:
S sy osoa n =120 _gop
324 3
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